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⌀

 









  



 



S  





≥ 

2,5 kN/m² ≤   𝑞𝑓𝑘 = 2,0 + 120 / 𝐿𝑠𝑗 + 30) ≤ 5,0 kN/m² 

𝐿𝑠𝑗

𝑄𝑓𝑤𝑘
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→

→
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𝑉𝑠𝑡𝑎𝑡

𝑉𝑛

φ

  𝑈 =
𝑉𝑠𝑡𝑎𝑡

𝑉𝑛
=

6,7 𝑚𝑚

10,1 𝑚𝑚
=  66,3 %

  𝑈 =
𝑉𝑠𝑡𝑎𝑡

𝑉𝑛
=

4,6 𝑚𝑚

6,5 𝑚𝑚
= 70,8 %

  𝑈 =
𝑉𝑠𝑡𝑎𝑡

𝑉𝑛
=

4,8 𝑚𝑚

7,2 𝑚𝑚
= 66,7 %

  𝑈 =
𝑉𝑠𝑡𝑎𝑡

𝑉𝑛
=

7,4 𝑚𝑚

9,2 𝑚𝑚
= 80,4 %

  𝑈 =
𝑉𝑠𝑡𝑎𝑡

𝑉𝑛
=

38,0 𝑚𝑚

52,0 𝑚𝑚
=  73,1 %

  𝑈 =
𝑉𝑠𝑡𝑎𝑡

𝑉𝑛
=

14,4 𝑚𝑚

20,5 𝑚𝑚
= 70,0 %

  𝑈 =
𝑉𝑠𝑡𝑎𝑡

𝑉𝑛
=

8,2 𝑚𝑚

10,0 𝑚𝑚
= 82,0 %

𝑈 =
𝑉𝑠𝑡𝑎𝑡

𝑉𝑛 ∙ φ 
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𝑤𝑒,𝑚𝑎𝑥/𝐿 = 1/3479 𝑤𝑒,𝑚𝑎𝑥/𝐿 = 1/4278 𝑤𝑒,𝑚𝑎𝑥/𝐿 = 1/3500

𝑤𝑒,𝑚𝑎𝑥/𝐿 = 1/4667 𝑤𝑒,𝑚𝑎𝑥/𝐿 = 1/975

𝑤𝑒,𝑚𝑎𝑥/𝐿 = 1/1970 𝑤𝑒,𝑚𝑎𝑥/𝐿 = 1/1829
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